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AN dot=SAFE A
B N5l4E U 2nAde
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
AotrS ALE A 11,686,970 16,753,471 25,066,501
= 5,069,000
Xl 2,536,000
< 97,114
s 3,984,856
ot H BaAE22 050,153 4,500,497 A450,344
X 2,536,000
< 97,114
[ia 1,417,039
AT Al 2t 4,050,153 4,500,497 A 450,344
Xl 2,536,000
= 97,114
s 1,417,039
AR2EAE HES 923,500 610,500 313,000
202 044l 4,500 4,500 0
01 S LHOIYI 4,500 4,500 0
O ARBLTAE A2 Y257
20,000& = 3% = 75¢ 4,500
206 = Hl 20,000 17,000 3,000
01 MHZ 4l 20,000 17,000 3,000
O 2L AE22SSAS UM (AHSTE)
100,000& * 200A 20,000
401 A& HIZ 201 8] 899,000 589,000 310,000
01 A& HI 899,000 589,000 310,000
O LRBLY BAYLE AUTA
120,000,000& * 14! 120,000
O HB4T AHFAY 8Y
70,000,000& * 14l 70,000
O ADE A3 IsdE HEI £XAY
200,000& = 300M 60,000
O A== 0|8 Ot=a== I At
7,000,000& * 7H A 49,000
O =235 S22 0|4 SA
160,000& * 500m 80,000
O 28 A0S NYga+E S AML
200,000,000 * 14! 200,000
O ARRHEANE A=AESYI| M3
3,000,000 * 1094 & 30,000
O ARE=EAE dD==2AAMNMAHI &X
7,500,000& * 8K A 60,000
O ARE2=EAE dD==AAMNMAHI KRXE=H
,000,000& * 2004 & 20,000
O ARE=EAE =ZS2HEZ WH
2,000,000 * 1090 & 20,000
O 2R A4d =83 E4
279,720& *» 14300 & 40,000
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O ARBZAE ZEHEFALE SXNES
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O A== A& Hui=X EHA
6,000,000 » 34 = 14 18,000
O AnB=ZAd 283 LA
35,000,000& * 1JH A 35,000
O A7AR2aT A4 =Xl EotA&dl &X
2,500,000& * 1000 2 25,000
O ARBEAIE 23 g A
25,000,000& * 10H 2 25,000
O AARZAE 222 253 A
2,000,000& * 1004 2 20,000
O JILMM(HEH) 2A=E A& HESAM
20,000,000& =« 14 20,000
A2 AE =2 AM 103,510 65,140 38,370
201 £B-2%| 96,510 65,140 31,370
01 At 22l 96,510 65,140 31,370
O ger==&Hl 95,810
— ARESTAE =EHA 95,810
2= 120,000& * 14300 & 17,160
3= 550,000& » 1430 & 78,650
O = & dl 700
— oe2 B YREN
7,000& = 2% = 50 700
206 M= Hl 7,000 0 7,000
01 =8l 7,000 0 7,000
O AREBxEANE A524F 72¢
4,000& = 1,750kg 7,000
2REFEANE HSAMY 900,000 566,000 334,000
Xl 630,000
s 270,000
401 AIEHIZ 28I 900,000 566,000 334,000
Xl 630,000
i 270,000
01 A& tl 893,520 562,434 331,086
O AnZsSgaelAlAE
500,000,000 * 99.28/100 496,400
Xl 347,480
s 148,920
O GaXF AR2ETAE HEAY
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Xl 138,992
s 59,568
O EELXFP AR2EZAE HEAY
200,000,000 * 99.28/100 198,560
Xl 138,992
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AN dot=SAFE A
B N5l4E U 2nAde
AaE Ax B2 (el:de)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 586,000
= 25,114
= 26,029
01 A& HI 631,869 838,885 A 207,016
O SAXSGASJAMLAL (OFRK )
631,869,000 631,869
Xl 582,308
< 24,956
[ 24,605
03 A& S THHI 5,274 4,115 1,159
O SAXSGA>JAMLA (OFRK )
5,274,000 5,274
Xl 3,692
< 158
[ia 1,424
SESTUEEFNLAEY 286,000 286,000 0
Xl 200,000
e 86,000
401 A& HIZ 2018 286,000 286,000 0
X 200,000
i 86,000
01 A& HI 283,941 283,941 0
O SESAMHSLNLAY
286,000,000& * 99.28/100 283,941
Xl 198,759
[ 85,182
03 A& =2 THHI 2,059 2,059 0
O csESUUEEFIHEAY 2,059,000 2,059
Xl 1,241
s 818
== HMel 1,346,814 756,302 590,512
Z A 5t
2= MelAlEe = A 1,346,814 756,302 590,512
Ste2asd XA 329,790 248,800 80,990
201 ¢4l 1,000 0 1,000
01 At 22l 1,000 0 1,000
O e+l 1,000
— SN HEBAMN 242
1,000,000 = 13l 1,000
206 M= Hl 172,500 158,800 13,700
01 MHZ 8l 172,500 158,800 13,700
O Z&B3ot=HMHel&d =Hel 4572 172,500
— Jrgatt 550@ * 92,727kg 51,000
— ZclgsYs 4203 * 126, 190kg 53,000
- S&H 5,000& = 13,000kg 65,000
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SA: ABIAT A A

MM Gl 25 Xel
Sl Bt 2k HelAldo 2N CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
— 02N 7,000 * 5004 3,500
307 QI2t0| ™ 156,290 90,000 66,290
05 QIZtRES 156,290 90,000 66,290
O 2&ABIot=Held HIIE2 | Heldl 156,290
— =dX 89,7484 * 1,630 146,290
— E&2 2,500,000& = 43| 10,000
Sta U EudMaANE SN2e 933,381 452,739 480,642
101 e1214| 2,000 2,000 0
04 JIZtHIZ22XNEES 2,000 2,000 0]
O Mg~ BX &x=HA 2,000,000& 2,000
201 Bt 296,031 286,339 9,692
01 AP 22| H| 33,439 31,339 2,100
O gBtxx=&H| 32,439
— IOt EAUE =42 (20 A) 16,499
2XotEHelZL A X SHAE (1,000KW)
1,096,900& * 128 13,163
LA2Hel & 278,000 = 128 3,336
— AUAIEDISEE ¥ FYUFES
3,200,000 * 13| 3,200
— FEAAA =42(KY, &#F)
250,000 = 43| 1,000
— ol=XHel& BN EE 2
870,000 = 23| 1,740
— FEFN) B2 5,000,000& = 23] 10,000
O 10 =2 4l 1,000
— otx=HMel&2el X I =S|
250,000 = 4H 1,000
02 Z2=2=24%4| 262,592 255,000 7,592
O 2222 2 HA 262,592
— 2AXZ2otx=Held ¥ SAEHSMHEH (1000
kw) 8J|22 16,666,600 = 12& 200,000
— AT 22| (400kw)
5,216,000 = 12&€ 62,592
206 28 15,290 6,600 8,690
01 X2 8| 15,290 6,600 8,690
O ot =Z22ZAME Y 1,000& = 5004 500
O AEA A Y ADRE
50,000& x 18& = 53| 4,500
O HECZE 40,000 * 5004 2,000
O &ar2 900,000 = 1 900
O 2F:J(1me) 500,000 = 14 500
O E$ZdD(40w) 222 55,0008 = pgE+A 330
O AtIt&eiT(750) ABE 12,000& * 304 360
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SA: ABIAT A A

g2 ot 2 HMel
& ot 2 MelAMES zHE (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O LHESYZ L oA 60,000& * 10= 600
O 2g & Aelir 100,000& * 28 200
O POLEZE WX 10,0002 * 4004 400
O 2H32&Y 25 &l
5,000,000 = 1set 5,000
307 glz2+ol & 380,000 0 380,000
05 RIZt2IE = 380,000 0 380,000
O BRTTI+HE Haloy
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401 Al HIZ 201 8] 240,060 157,800 82,260
01 A& HI 240,060 157,800 82,260
O 336Xl 220,060
— RY/EFIEZI ASEH LA BA
20,000,000& = 14 20,000
— =S =<AH nH 5,000,000& =« 2CH 10,000
— 3S=x CAH =2 6,000,000 * 2CH 12,000
— BFS X AD|& 22| 6,200,000& = 27| 12,400
— oI+ AAMAI| el
11,500,000& * 14 11,500
— WAAHdaZST DH(A2F)
210,000& = 964 20,160
- SYBZE =30 £
40,000,000& =« 2CH 80,000
- Jag=0 =2l 7,000,000& * 2CH 14,000
— SHHYTAL e ZA
20,000,000& * 14! 20,000
~ SYU/YREIE F&
10,000,000 = 200 & 20,000
O 282 Hel& 20,000
— =EEIZ, B29, WetI| &l
20,000,000& = 14 20,000
=& TMS® Xl 22l 80,423 49,043 31,380
201 Let24d] 37,643 36,443 1,200
01 At 22l 37,643 36,443 1,200
O L=t 37,643
— A3 S HEID| BE 422
1,900,000& * 12& 22,800
— =& TMS A=DI10] F A AHI(CODRI4E)
3,843,000 3,843
— =& MS HZFIIJ AFHANE 228 =
SHl(cone 45) 11,000, 000& 11,000
202 Oddl 1,500 1,500 0
01 = LH 4 Hi 1,500 1,500 0




SA: ABIAT A A

MM Gl 25 Xel
2 ol 2 MelAAdo =& (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
O TMS SAENHA 2O & DA
50,000& x 22 % 3™ x 53] 1,500
207 S0 | 11,280 11,100 180
03 A& A3 H| 11,280 11,100 180
O COD H=D| 4ER
450,000 * 1set » 12&€ 5,400
O T-N/ T-P HAEI| 2+EF
490,000& = 1set = 12&€ 5,880
401 AlEHIZL 201 Y| 30,000 0 30,000
01 A& H| 30,000 0 30,000
O Z2XBS3ot==Hel&d =& TMS AHZFIIJl
bl 30,000
— ZZ&TMS A=D1 1A
30,000,000& * 1= 30,000
=&z HHMARJ_G F4A 3,220 3,220 0
201 et d| 3,220 3,220 0
01 AFR 2t 2| H| 3,220 3,220 0
O 894 3,220
— HMYIAS HHEY 70,0008 * 46% 3,220
otx=& &2l 3,781,553 8,256,470 N4 474 917
= 2,707,000
= 1,074,553
ot=& &2l 3,781,553 8,256,470 N4 474 917
= 2,707,000
o 1,074,553
Olsata=% S22 346,948 324,000 22,948
101 Q124 4] 1,500 1,500 0
04 JI2ZtHIZ22NEE S 1,500 1,500 0
O OIS Z226tx=HelAE H=&g & HA (2
et2 oI5 23) 150,000& * 1000 A = 13 1,500
206 M = Hl 2,028 3,000 N972
01 X2 H| 2,028 3,000 NQ72
O 0l Z23cta=HMelAE As%E
90,000& * 5& x 23| 900
O 0t Z2206t=HXMalAld =22AAE N4 1,128
— H50E0] 4t 48,000 * 1500 A& 720
— H0EO0lot 12,0008 * 3404 &~ 408
307 QI2t0| ™ 199,500 169, 500 30,000
05 QIZtRES 199,500 169, 500 30,000
O 0t Z2206tHdelAlE 2292 heH
180,000,000 * 14! 180,000
O 0t Z2206t=HdelAld "I el e
1,300,000& = 15J0H £ 19,500
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ASts T AP A
ot== 2t
St=& 2t

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
401 Al HIZ 201 Y| 143,920 150,000 A6,080
01 A& HI 143,920 150,000 6,080

O Ot B36ta=HMelAld =xel =& (6t
>y &) 10,560,000 * 7JH 2 73,920

O Ot2 Z3at=HMelA&E XBtE6 S B3
A(SOtFE M E 2t@d) 40,000

10,000,000& * 400 &

O Ot B3ot==HelAd 327 5 RAES
2,000,000 * 109H £ 20,000

O Ot2 33at=H™elAld WASD| SHZWH

500,000& * 2004 & 10,000

St=SE R Al ZelAtg 79,000 79,000 0
401 A& HIZ 201 I 79,000 79,000 0
01 A& HI 79,000 79,000 0

O at=2 JIHEH 39,000
- ZAUS 2,000,000& * 10km 20,000
— 0z 2,000,000& * 2km 4,000
— Oi8ot=& 319,140& » 4700 & 15,000

O o2 238+ 2,000,000 * 1090 A& 20,000

O ot==21 0l 3At 100,000& * 200m 20,000

Stz R 161,885 135,160 26,725
201 Let24d] 155,485 128,760 26,725
01 At 22/l 11,925 10,160 1,765

O ger==&Hl 6,525
— OISE4E ATAN 248

45,0003 » 4904 & 2,205

— 8F, 2Y BIToLHAY WIIXHEY
== 130,000& » 24 « 123 3,120

~ 2d ZZE+HUF HIIAHBALLE
100,000& * 12& 1,200

O 28+ 2,400
— otk 2d 29 HHMAE L 4B

923 100,000& » 6Y « 43 2,400

O = & dl 3,000

— ot=Ege =2 3,000,000& 3,000
02 2324l 143,560 118,600 24,960
O =322 % XA 143,560
— Ot==&MBTL &MII23 7,080
d4oZ 500,000& = 123 6,000
DHANSSH 30,0003 » 3MA « 123 1,080
— BTLSt==2&) & OISots=E SHL3 7,500
BTLE & 14,000& » 134 « 128 2,184
BTL2H & 143,000& = 10 « 128 1,716




AN dot=SAFE A
g otk 2
Bel: ofe=E 22l (=& J)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OE23dt=%  30,000& = 100 = 122 3,600
— OiSot=& dIIR=s 124,000
Held 187,074& = 49004 « 128 110,000
d4aZ 25,3623 * 46002 + 128 14,000
— OIS RBIVIN 2ELS
300& = 8000H = 123 2,880
— ot=& g3l 2,100
ot==Xcl& 2382t= 700,000& 700
Of =2t D1 324km 1,400,000& 1,400
202 o4dl 6,400 6,400 0
01 = LH 4 Hi 6,400 6,400 0
O dtx=ERs RFUd=+ & otk 22
20,0003 = 5 » 64 6,400
ot==2t{ BTL RAl2el 260,000 260,000 0
201 £B-2dH| 3,000 3,000 0
01 At 22l 3,000 3,000 0
O 2g=¢ 3,000
— Z& St=2 BTLAMY A M&EIL A3 3
125,000& * 69 = 42 7| 3,000
307 glz2+ol & 257,000 257,000 0
05 RIZtIE = 257,000 257,000 0
O Z& ot=2tH BTLAIY |IE 2|
64,250,000& * 42 7| 257,000
HER StHelAld sRl2el 195,150 137,310 57,840
101 @124 dl 900 0 900
04 JIZHHZ2XREES 900 0 900
O MelZ, SAHESd My 2 A
150,000* 69 &+ 13l 900
201 ¢4l 80,800 73,360 7,440
01 At 2t 2l 3,000 2,360 640
O e+l 3,000
— ObE EOIHHEALE 222 (98kw)
160,000& * 12& 1,920
— RYS L YRS FFAMN 448
180,000& * 1JHA « 63 1,080
02 2324l 77,800 71,000 6,800
O =322 % XA 70,800
— 0tz B3ot=Held I3
2,000,000& = 12& 24,000
— SHEZE 6 HIIRS
3,900,000& * 122 46,800
O AIE&H |Xbl 7,000




2AN: ot A A
HHM: ot 2e
Bel: ofe=E 22l (cho &)
2N -3 -2 (SH) - NHEAMY - BES Off &4 %‘E_ﬁ Husz
- HMal¥, SHEZHY SR 2
1,400,000 = 500 A& 7,000
206 M= Hl 12,350 6,000 6,350
01 M= 4l 12,350 6,000 6,350
O Ot st=XMeld A2 2L (Ordant)
1,500& = 4,000kg 6,000
O NHeEdgs 4238 90,000& » 156= 1,350
O 88 st=Meld 422 (tgan)
1,500% = 3,333kg 5,000
307 glztol & 5,000 3,000 2,000
05 RIZtIE = 5,000 3,000 2,000
O o8& A=Al
166,660& » 10& * 32 5,000
401 A& HIZ 2018 96,100 54,950 41,150
01 A& HI 96,100 54,950 41,150
O Ot 235t=H™elE 75,700
— 20=eX 0l 85,0003 * 208 * 123 20,400
— =FEHIZ, S, HSHAH SUE=>
2,900,000& = 7004 20,300
— BSx W) A 15,000,000& * 1CH 156,000
— 22S HAHEY PLCHE B AHKSH AT
=) 20,000,000 = 14l 20,000
O &8 ot=Hel& 20,400
— 20=eX 0l 85,000 208 * 123 20,400
s - HelXl7 OtsSot=% FEHAY 2,438,570 2,861,000 N422,430
= 2,407,000
a 31,570
401 Al HIZ 201 8] 2,438,570 2,861,000 N422,430
= 2,407,000
s 31,570
01 A& HI 2,216,606 2,725,091 A 508,485
O gs -HelXl? 0S6l+% FUIAY
2,216,606,000& 2,216,606
= 2,216,606
02 2feltl 209,586 121,434 88,152
O gs -HelX? 0S6l+% FUIAY
209,586,000& 209,586
= 181,729
s 27,857
03 A2 S THHI 12,378 14,475 A2,097
O gs -HelX? 0S6l+% FHIAY
12,378,000& 12,378
= 8,665
[ia 3,713
S -3EX7 0tSot=T UMY 300,000 0 300,000
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= - — SHE|
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401 Al& I 28I 300,000 0 300,000
= 300,000
01 A& HI 297,840 0 297,840
O 85 - S&X3 0t38dct=% HulAY
300,000,000% * 99.28/100 297,840
= 297,840
03 Al R THHI 2,160 0 2,160
O 85 -S8X7 0iSct=E ZHAY
300,000,000 * 0.72/100 2,160
= 2,160
MEES(MotE=TAIEA) 2,405,430 3,139,000 A 733,570
= 2,362,000
s 43,430
SEXS(LE3A) 2,405,430 3,139,000 A 733,570
= 2,362,000
s 43,430
dlot=HelE 394,000 810,000 A 416,000
= 394,000
311 Xt 20| A4 & 400 22,400 222,000
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03 SLERXNL SO0 AH&e 400 22,400 A 22,000
O Z&ot=Held sXt3cel3 0lXt& &
100,000& * 4& 7| 400
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601 XL S A S &2 393,600 787,600 A 394,000
= 393,600
03 SLZExLSAaaE 393,600 787,600 A 394,000
O BAE+HAY BSHHS 234
98,400,000& * 4&7I 393,600
= 393,600
ZXGt+2H BTLE U= 2,011,430 2,329,000 A 317,570
= 1,968,000
[ia 43,430
311 Xt S0l A4 697,430 1,178,124 A 480,694
= 663,200
s 34,230
03 SLEREXNL SO0 A& e 697,430 1,178,124 A 480,694
O Z&ot=2HBTL U= Ol &t
697,430,000 697,430
= 663,200
s 34,230
601 XL SRS && 1,314,000 1,150,876 163, 124
= 1,304,800
[ia 9,200
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